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lustrucaonys:

1) Q.1is compulsory.

2) Answer any three from Q.2 to Q.6.

3) Vieures to the right indicate maximum marks,

) AdLquestions carry equal marks.

5) Stuct each question on fresh page.

6) Lnter appropriate main & sub question numbers in the answer

book.

7) Allworking notes to form part of your answer.,

Q.1 The ollowing figures for profit and sales are obtained [rom the accounts of X Co

Lid.
T\'czn’ Sales Profit
2020 - Rs 1.20.000 Rs 9.000
P S e Rs 1,40,000 Rs 13,000
Culeutute

1y POV Rauo

2) Fixed Cost

3) Break Even Sales

4) Protit at salgs Rs 1,00,000

5 Sales required to earn a profit of Rs 20,000

(20 marks)

(0.2) Following information has been available from the cost records of United

Automobiles Ltd manufacturing spare parts.

aruculars

PIE R X Y
Cost ol Direct Material per unit | Rs 8 Rs 6
Ehrect wages 24 hours (@) 25 paise per | 16 hours @ 25 paise per
PRETE A hour hour
~clling price per unit | Rs 25 Rs 20
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Variable cost is 150% ol wages
Fixed overheads Rs 750 | | I
The dircctors want to be acquainted with the desirability of adopting any onc
following alternative sales mixes in the budget for the next period
1) 250 units of Product X & 250 units of Product Y
2) 400 units of Product X
3) 400 units of Product X & 100 units of Product Y "
4) 150 units of Product X & 350 units of Product Y
State which of the alternative sales mix you would reccommend to the
management (20 marks)

. L ¥l ue oSuadfon e
Q.3) The Std labour employment and the actual labour engaged in a week for a job arc
as under:

[ Particulars | Skilled w orkers | _Semi-skilled | Tl <k
| Std no of workers in the gang | <7 N T &

| Actual no. of workers emploved | 28 ' 18

_Std wage rate per hour | 5 1 - 5

_Actual wage rate per hour (t o g 3 .

During the 40 hours working week. the gang produced 1800 Std labour hour of w ork

Calculate LCV. LRV. LEV. LNVand LYV

(20 marks)

s

Q4 A) A factory works on the standard costing ssten The std, Estimation

nits of a commodity is 100 kes ar Ra <0 per

-

materials for the manufacture of 1000

kg. When 2000 units of a commodity are manulactured it is found that 820 kes of
material  is consumed al Rs  2.60 per ko, Calculate Materal
Variances,

Q.4 B) A firm can purchase a separate part from an outsjde source (@ Rs 11 per unit.
There is a proposal that the Spare part be produced in (he factory itsell. Foy (iy;-
purpose a machine costing Rs, 1.00,000 with annyal capacity ol 20.000 units and lie
ol 10 years will he required. A foreman with g monthly salary of Rs. 500 wWill hav ¢ 1o e
encaged. Materials required sill e Re, 4.00 Per unit and wages Ry, 2.00 per uniy
Variable overheads are [50% of direct labour. The fim, can casily raise funds v 100
P-a. Advice the fifm Whether the proposal should pe accepled (10 iy
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Q.o v Eaplancthe Prineiples ol good report (10 marks)

B iaplain the factors miluencing the management control in the business
chlity. (10 marks)

Write short aotes on the following (any 4) (4 x 3= 20 marks)
Dy Margin of Salety
) Uses of break even analysis
) Performance Budgeting
41 Need ol management Control
5) Benelits of Bulanee Score card

0), Benetits o Transter Pricing
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